Integrated area of sample (Ix) = 1.55

Integrated area of standard (Ical) = 3.00

Number of Sample nuclei (Nx) =1

Number of standard nuclei (Ncal) =3

The molecular weight of the sample (Mx) = 302.40
The molecular weight of the standard (Mcal) = 137.14

Mass of internal standard (Wcal) = 0.0145 g NO
Mass of sample (Wx) = 0.0505 g J 2
Purity of standard (Pcal) = 99.5%
Purity of sample Px =2 x Neal x Xy W cal x Pcal
Ical Nx Mcal Wx
) 156 3 30240 _ 0.0145
Purity of sample PX_WXIX PRy x 99.5 OMs H3C
= 98% H OMs
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